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Question Number : 1 Question Id : 550053161 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
If f(a)=log tg for a = {-L1}, then the set of values of all ‘a’, for which
a={-L11}3 f(a)=log %:2 9003, t'% > () A ) 4" JeHL VS

Options :






Question Number : 2 Question Id : 550053162 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ax+va’-x’

If a real valued function f is defined by f(x) = " . then fs
X
f & 28 arRddure| vabo, f(x) o UE T g ABSDS, WD\ |

bx

Options :

only one — one

9IS AITG

only onto

L v P0fRH0 ArG

both one — one and onto

0 d(S0 SoBasL DoFRHaW



neither one — one nor onto

(S0 571 DoFRbD S7¢d
4. %

Question Number : 3 Question Id : 550053163 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the cofactors of the elements 3. 7 and 6 of the matrix [4 -1 7| are a.bandc

1] 3
respectively, then [a b c] 41+[a be]|7)=
2] s

1 23
14-1 7| &r@8 aog), e 3. 7a0dako 6 o)
2 46

PHETHODHB0L) SET 2, b 800 ¢ o, LN

|
[abc|4]+[ab]
2

LS }

N 1

Options :






Question Number : 4 Question Id : 550053164 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
(2 @ 4) (=] 4 I
[etB=|1 0 I |and C=|1 1 3| Ifamatnx A issuchthatBAC=I,
-1 1 -1 (2 02
then A=
2 6 4) (-1 0 1)
B=/1 0 1] &bcfn C=1 1 3 edvhomro. Ao w8 ards
|
L =l (2 0 2)

BAC =T edijotan mm €083, @)\ Ke
Options :

5 =5 &)

0 9 14|
- 2 2 6/;
-3 -5 5
n 0 = |
2 14 16)



0 9 2
(2 14 6
(-3 & -85
0 9 2
l2 14 6]
4.9

Question Number : 5 Question Id : 550053165 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If det(AB)=(det A)(det B) and A is anon-singular matrix of order 3x 3., then

det(adj A )=

det(AB)=(det A)(det B) 208050 A w8 3x336638 Bodd s Forom Srds

o, O\ det(adj A) =
Options :

det(A)

=1

(det(A))



(det(A))

Question Number : 6 Question Id : 550053166 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
55 [ 1 ',"' S 3L | P )) n . 4 ;
S=.z€C, ’z | 11 =1; represents
Bi= {z eC/ |z —1—ri| = 1} QAT 03
Options :

a circle with centre (—1. 1) and radius 1 unit

Sogo (—1. 1) 208050 oegPrdo 1 afardeS ™ o Sy

[

a circle with centre (1.2) and radius 5 units

Sogso (1.2) 0808w Se§go 5 0BT (o) ayea

2. %

a circle with centre (1, —1) and radius 1 unit

3050 (1. —1) Hodasw ao?gaogo 1 0505 T o) Sy8adm
3. ¢

an ellipse with centre (1.—1)

Sogo (1.—1)m do &G Hydho
4% =

Question Number : 7 Question Id : 550053167 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

5
If |z——|=2.then the greatest value of 'zl is
Z
2
Z—={=2 o8, WD\ |7 g, 18R Dewsd
z ™ : '
Options :

1. % V3-1

Question Number : 8 Question Id : 550053168 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

One of the 15" roots of —1 is

—1 g, 155 Harereres” )
Options :

cis0



Question Number : 9 Question Id : 550053169 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

/ 3/4
The product of the four values of (1+ i3 | s

(l—,i\/g).}4 BooE), 4 Dewde VLB

Options :



Question Number : 10 Question Id : 550053170 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If one oot of the equation ax’ +bx + ¢ =0 is twice another root, then

ax’ +bx +¢ =0 2SGeW AR08, 28 BaroBw, HES APerS 380RY) o0d,

Q.‘JQ)Q&J

Options :

36b° +729ac’ =0

36b° =729ac’

Question Number : 11 Question Id : 550053171 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

o and B are the roots of the equationx’ —ax+b=0. If o’ +pand o +p’ are the

roots of the equation Ax* +Bx+C =0, then C=

0 3080k Pen H0Sdm0 X' ~ax+b =g dareren, o +f SoBoky
o’ +Be0 Hsmn A’ +Bx+C =008, Sreren sowd, iy (=
Options :

2> —5a’b + 6ab’



S = 3 o)
a’ +5a’b—-06ab”

2.

a’ —5a°b — 6ab’
3.
, a’ +5a’b + 6ab’

Question Number : 12 Question Id : 550053172 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If —1is a twice repeated root of the equation ax’ +bx* +cx+1=0, then

ax’ +bx’ + X +1=0 DeDZEEAS —1 Bocdd T DD PO, Yy

Options :

b=2a+1 c=a+1

b=2a+l, ¢=a—2

. b=2a+1 Ce=48+2

Question Number : 13 Question Id : 550053173 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






x? —2x+3

The minimum value of f(x)=— 18
X" —4x+7
f(x)= B -2%43 e 402 Dess
C X —Ax+T b =8
Options :
1
1+
. B
1.*®
3-4/3
2.Y 3
9 1
5
3.7
o B
3_.
N
4. %

Question Number : 14 Question Id : 550053174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

+C"_) C‘r+2 +...+C‘n_r C‘n —

r+l

If C;="C; then C, C, +C;C
C;="C; wawd, o)y CC+CC +CCh+.+C G =

n-r n

Options :






(2n)!

(n—1)!(n+r)!

2.8
2n
-4 Cr
3.
2n
® C r+1
4,

Question Number : 15 Question Id : 550053175 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The coefﬁcient of the highest power of X in the expansion of

e

(u

(\+\/\—— ) ( X ) a8, RS X g | OB S oo

Options :

w64



Question Number : 16 Question Id : 550053176 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The number of non-negative integral solutions of X, +X, +X; +X, =10 is
X, X, X5 +X, =10 cBog), OFS6 rgros Fesde Doy
Options :

120

1.%

« 144

r2
hn
(@)%

Question Number : 17 Question Id : 550053177 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The number of six digit natural numbers that can be formed with the digits
2,3,40,56,7,8 1

eoden 2. 3. 4. 0.5, 6. 7. Sod ofwdbéé (10 e38)e90S0) WP {ooagsv 7003.05

Options :



Question Number : 18 Question Id : 550053178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

.

(
|
|

IfA=/{

a b) | - o o B
/| ra.b.c.def-11} } then the number of singular matrices in A 13
¢ d)

\

[(a b) B
A :1 : ra.b,c.de{-L1}F wond, DD AT OFCTOR SrHs 208
\C a )‘

Options :

;% 9

« 12

Question Number : 19 Question Id : 550053179 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
1 T[ . . % ey
If cotxcoty=a and x+y= - then the quadratic equation satisfying cotx and
coty is
i
COTXCOTY =a&Bakn X+y=— ond, B\ cotx w8k coty VR &y
6
203 356 HFBA
Options :

t? +(1-a)\/3t+a=0

1.%

) V32 +(1-a)t+a3=0

2.

Bt +(a=1)t+a3=0
3 ®

LU +(a—1)4/3t+a=0
4.

Question Number : 20 Question Id : 550053180 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If tanA+tanB=x and cotA +cotB=y, then tan(A+B)=

tan A +tanB = x 0804 cotA+cotB=y @ond, @)\ tan(A+B)=

Options :






Question Number : 21 Question Id : 550053181 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

1 1
c05290° /3 5in250°

Options :
3
1.% 4
4
2. v N7

u&)" B



)

2

Question Number : 22 Question Id : 550053182 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. (= ) . [3n | (3 (3 \[ N
If | 1-cos| —+a {+sin —e ] % l-sm| —-u |-cos| —+a =a+bsm'|—+a A
\ 2 ,’ L ) | I {0 / {5 | \4 |
\ - / \ - / L N - / \ - f \ /
9] 04
then a“+b” =
i \ . [3n ‘,q‘: - | 3n "' [ 3 \ T’ T
1-cos| —+u ’+sm —+0 || +f1-sm| —-d ‘-cos] —+0 =a+bsin’ | —+d
g ) Az L \z ) \g ) \4 )

wod, B\ a’+b’ =

Options :

1% 2

o
2

; % 40

)
(§S]

Question Number : 23 Question Id : 550053183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



18

. |
The range of ———— ——
SN X +3SMXCOSX+IC0s X

1
— , 5 O TR
SI™X+3smXcosxXx+35¢cos™x

Options :

1
5H

1 11
272

Question Number : 24 Question Id : 550053184 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If coshx =—.then tanh3x =

|

coshx =— es00. @3D\¢O tanh3x =

4-‘:-|'J|

Options :






c\|ox
s

hn

g
N
)

9
o))
th

Question Number : 25 Question Id : 550053185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC. if sin’B =sinC and3cos’B =2 cosC. then AABC is
AABC & sin'B=sinC 08050 3cos'B=2 cos’C esond, Wy AABC
Options :
a right angled triangle
208 0 St BEDBED

'I 23

an 1sosceles triangle

, % WS VAEETTN SO0






an equilateral triangle

8 aETPTN) G23022e000

a scalene triangle

v W8 DN &PV G0

Question Number : 26 Question Id : 550053186 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If AABC is aright angled isosceles triangle and /C =90°, then r:1; =

AABC 28 wose RV Gabaw H0Baky /C =90° 0aNd, WY\ 111, =

Options :

. \/3+1:\/§—1

1.

. =133 1

\/5:1

3. %

" 1:\/5

4.

Question Number : 27 Question Id : 550053187 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






. ‘)C‘ s P s
IIIAABC.IIEICOS”7+CCOS’ =—. thena+c:b=

—

. y C 2 £
AABC e, acos 7+ccos

Options :

]Ql:l

4334:3

Question Number : 28 Question Id : 550053188 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. X+2 , e ek Sl
If —— 15 one of the partial fractions of ————
=3 X" +Xx"-12

fraction of 1t 13

, then the other partial

X+2 I -x*-2x+17
— O ———
X -3 X +Xx =12

ef)cf)‘lo

g Fa ei)mloé‘ w368, o 2T FEs

Options :

ro
I

X+
3

>

V
N






LS )
AR
,.I, ,.I,
SO (S

2x—3
;v X +4
3x -2
gx X4

Question Number : 29 Question Id : 550053189 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If 7i-4j+5k 1s the position vector of the vertex A of a tetrahedron ABCD and

7 4] -3k is the position vector of the centroid of the triangle BCD. then the
position vector of the centroid of the tetrahedron ABCD 1s

ABCD o3 3oty D 9o A o) 37 6% Ti-4]+ Sk 08080 Gaioo BCD
G0g), SoerRo g rg% 08% —i+4j-3k eowd, Rt o) H ABCD
GB0g), Sogs &0 B8 gva 6%

Options :

 —i+4j-3k



Question Number : 30 Question Id : 550053190 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let 0A =i+ 21 ~2kand OB=-2i- s} +6kbe the position vectors of two points A

and B. If C is a point on the bisector ZAOB andOC =42, then 0C=

0A =1+2j-2k 208050 OB =-2i-3j+ 6k A 238050 B 093 G0t Dododye
gva B3uR0S0Ere. ZAOB dg) RsoBocd 8 € 28 Docoi) SBakw
0C = /42 o, TN 0C =

Options :

K 4i— _1 +5k

1

i+5j+4k

51+4ji+k

i—4j+5k



Question Number : 31 Question Id : 550053191 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
L TRT _ axh
If a and bare two vectors such that |a :’b‘ :\/ﬁ and a.b=-7. then ‘_B =
T
a &8050b e 5:’51:\/1_4 208050 2.b=-7 @oﬁzge)egpnv &) G0t
axb
G300, WY\ = =
% . )’

Options :

« T3

1.

V3
7

4. %

Question Number : 32 Question Id : 550053192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Let (a, b) denote the angle between vectors aandb. Ifa=2i+ 3]+ 6k, ab=4

and (51_)) = cos ™! ‘ 2 } then a+b=
; \ 21 /

(2.b) 38, 2 soBat b v&#w Sogsg Serd) ArdRpOGDOEO.

\
\

— - - —_ g oo /4 -
a=2i+3j+6k, ab=4 H8an (a,b):cos'lyﬁ; 900, W a+b=
i 2

/

Options :

, i+]+8k
1.
3i+5)+4k

. 31+53+8E

v i—3+8E

Question Number : 33 Question Id : 550053193 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



am—ﬂ

The distance of a point a from the plane r.m=q is given by ‘_ . 1If the
m‘

distance of the point i+2j+3£ from the plane f.(21f6]—9ﬁ):—1 is p and the
distance of the origin from this plane is q. then p-q =

hm—ﬂ

L= @ $00 &0d 2 03 w8 Dot o Erdo ™ @3 (dod.

;
1.(21+6j-9k) = -1 dwo &00d i+2j+3k Dot o Grdo p ArBakw &
$0000G PO o Brdo | BONS, VYW p-(=

Options :

6

N

2

.v 1

Question Number : 34 Question Id : 550053194 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mean of 5 observations 15 4.4 and their variance is 8.24. If three of those
observations are 1.2 and 6. then the other two observations are

5 H030%0 Socsfvo 4.4 by T DS 8.24. TS durch 2830 1.2, 6
e90d, &8 HDD Focky HBIVHW



Options :




Question Number : 35 Question Id : 550053195 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Three screws are drawn at random from a lot of 50 screws containing 5 defective
ones. Then the probability of the event that all 3 screws drawn are non-defective,
assuming that the drawing i1s (a) with replacement (b) without replacement
respectively is

w8 23 &' 50 28’ 5 AT 6 . 6 T3 dvodd 3 Ak
afrcsyeySorr (a) SR A B6A 756 S dcorr

(b) &R om0 S8f B0 Saidd Ao LA B, B\ & APy AT

BETondd S R0LT(S, SERT

Options :

[’ 9 ‘l3 1419

10) ~ 1960

1.¥



[ﬂ)g 1418




10 ) 1960
3. %
( 9 ‘]3 1418
10 ) 1961
4. %

Question Number : 36 Question Id : 550053196 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A coin 1s tossed three times. Let A be the event of “getting three heads™ and B be the
event of “getting a head on the first toss”. Then A and B are

w8 TED) QaPed O MY ST, arese "o e Sy ko A ed),
ABBFE AESNE 670 3B bR B 0 wEod. w0 A
wadw B en

Options :

Dependent events

. e.oxbse‘.’aog FOBIATSI IS
1.

Independent events
K)Sejog FOSIATSI DS

2.V
Impossible events

3 2900330 LD



Certain events

4% :)‘?‘)é FOSIATVI DS

Question Number : 37 Question Id : 550053197 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

From a collection of eight cards numbered 1 to 8, if two cards are drawn at random,
one after the other with replacement, then the probability that the product of numbers
that appear on the cards 1s a perfect square is

1 d00c: 8 Do Aroacd G 60 E6E &oc A Sor Gocd
SRV w8 TR SIS LT, S oAV 86h 238 B2 dorT Y. B\
& 500D SH0E 0L VWO w8 DBLTY Sbo SIS (o) oerdd

Options :



Question Number : 38 Question Id : 550053198 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If A and B are events of a random experiment with P(A) = 0.5, P(B)=0.4 and
P(ANB)=0.3. then the probability that neither A nor B occurs s

P(4) = 0.5, P(B)=0.4 50800 P(ANB)=0.3 echitotw A 6050 B a8 afreydys
DA cﬁ»é& 200D 0NA, eazg)bcia A 58050 B en Godr 26648

TdedS Ko R0ERS
Options :

4 0.04
v 04

3330.8

, x 02

Question Number : 39 Question Id : 550053199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The minimum number of times a fair coin needs to be tossed, so that the probability
of getting at least two heads is at least 0.96 1s

$R%0 Bochy e8"sye Tod DoePd(® S0 0.96 SIS, 28 k8 TEY)
D8 Doy S DAL Do

Options :



4.%

8

Question Number : 40 Question Id : 550053200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

v

If P(X=x) 3....15 the probability distribution function of a

\8,1
discrete random variable X, then k =

? \
J

P(X:x):kj—

X
3 4

=1.2.3.... 38 8 ) oirdy\S o3 X aiwg)

ROTA(Er DeTad YA AP, B k=

Options :

5
1.% 8

) | co






Question Number : 41 Question Id : 550053201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If A(4.0)and B(-4,0)are two points, then the locus of a pomt P such that

PA-PB=4 is

A(4.0). B(-4.0) 3ot docoayyen ewond, PA-PB=4 OB &0l Dot

Pcﬁooégj FALIAV TSIV
Options :
' -y =12
1.¥ i
x°—3yv* =12
2. % =
. 4(x" -3y )=1
3x* -y’ =1
4% -

Question Number : 42 Question Id : 550053202 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



LetP=(-1,0), Q=(0,0) and R =(3, 3\/5 be three points. Then the equation of the
bisector of the ZPQR is

P=(-10). Q=(0.0) &nBat R = (3.3,/3) e ares> Dotiodyen wo§od. ez
ZPQR 6308, 0832063 B3 D0<6e30

Options :

v x/§+y:0

. x+\/§y:0

Question Number : 43 Question Id : 550053203 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The diagonals AC and BD of a rthombus ABCD mtersect at the point (3, 4). If
BD= 2\/5 A=(12).B=(a.p).D=(y.0)and o< <y<p, then p+y-0=

ABCD &% trowd aiog) Stren AC d0basw BD en (3, 4) &¢ aodiowdy
Sotwryow. BD=2y/2. A=(12), B=(0.p). D=(7.5) B0k 0i<d<y<p

wowd, O\ f+7-0=



Options :

Question Number : 44 Question Id : 550053204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The lines p(p* +1)x-y+q=0and (p° +1)"x+(p* +1)y+2q=0 are perpendicular
to a line L for
P +D)x-y+q=0:080%0 (p*+1)°x+(p +1)y+2q=08e0 28 L 3
QIOLOT GOGAED
Options :
exactly one value of p

P S 28 28 Dewd &otwod
1.V

exactly two values of p

P S B0t e &otron
2.






more than two values of p

P S B0t S0& A D DedeN oo

no value of p

4$p§§)§)ws§eoc§c&)

Question Number : 45 Question Id : 550053205 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 2x*-3xy+y'=0 represents two sides of a triangle and X+y-1=01s its third
side. then the distance between the orthocenter and the circumcentre of that triangle
1S

2X'-3xy+7'=0 a8 Svo aws) oy Aaroiy ok x+y-1=0 &
Sonesd Boared) APy, &8 Gabao AwE) wow Sogo B HBToTrY S R
drdo

Options :



# %

Question Number : 46 Question Id : 550053206 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

Assertion (A) : The difference of the slopes of the lines represented by
y2 - nysec2 o+ (3+tan o)(~1+tan’ a)x" = 0s 4

Reason (R):  The difference of the slopes represented by

2./h*-ab
b

ddydo (A): v -2xysec’ o+ (3+tan” o)(~1+tan’ 0)x’ =0 & ardocad

2 2 .
ax +2hxy + by =0 is

oEND) GI0g), TRV 333&552‘360 4

steo (R) : ax’+ 2hxy +by'=0 & Rovedocseacty Save o8, Tevw) Socs Scso

2,/h*-ab
b

Options :

Both A and R are true and R is the correct explanation of A

A o83 R e 2'08‘.'950 003 A 03335‘6 200 DB R
1.¥

Both A and R are true but R is not correct explanation of A

A 0800 R ew Boct 20, ©ond A 63g), DD JHdee R 570
2. %



A 1s true but R 1s false

A 250 53 R 900

A 1s false but R is true

A o850 5 R R0

Question Number : 47 Question Id : 550053207 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let ABCD be a tetrahedron in which the coordinates of each of its vertices are in
arithmetic progression with same common difference. If the centroid G of the

tetrahedron is (2.3.k ), then the distance of G from the origin is

ABCD o3 chath D aiog), 9O 3o 308, Arsen a8 Frdordy Stsorfo wos
3 8 ayow. o Sogerdo G ag) rasen (2.3.k)wond, iy G
0 e Dot Ko Erdo

Options :

38
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Question Number : 48 Question Id : 550053208 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If A(3.-1.11), B(0.2.3), C(4.8.,11) are three points, then the coordinates of the foot
of the perpendicular drawn from the point A to the line joining the points B and C 1s

AG.-L11), B(0.2.3), C(4.8.11) &0 mety Dochrdyen eond, A 20& B S8akn

C 0 €05 3% ADD wosy Fdo Gg), AFDRY

Options :

. (3.

n
~
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1.

~~
2
th

. 7)

LN
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’
9
)

R

Question Number : 49 Question Id : 550053209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If S is the set of all real values of ‘a” such that a plane passing through the points
(<a’.L1), (L-a".1), (L1 —a") also passes through the point (~1,-L1), then $=

(=, 11, (L-a%.1), (LL-a") Docodyo toce Fah as doo, (-1.-L1) Hocrsdy
ore $ree JFabrarm o ‘2’ 6208, BR) TR Jeodw HS S wawd,
@Q}Q@ S=

Options :

1.%

5B
2.5
. {1,-1]
. {3.-3}

Question Number : 50 Question Id : 550053210 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The distance between the centres of similitude of the circles
X' 4y’ +6x-8y+16=0and x* 4y -2x-2y+1=0 is

X' 4y +6x-8y+16=0 2batw x*+y' -2x-2y+1=0 )TV g 3°d}°:>5

Sogro dugj o



2 |
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Question Number : 51 Question Id : 550053211 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let P and Q be the mverse points with respect to the circle

S=x’+y' —4x-6y+k=0 and C be the centre of the circle S = 0 such that
CP.CQ=4.If P=(L2) and Q=(a,b),then 2a=

S=x"+y" ~4x~6y+k =000 %gﬁé P 208050 Q &0 &' Docadywny B8k
(P.CQ=4edugtorr $=0 Sy dwg) Sodo € Gothdvsorro. P=(1.2)

S8t Q =(a.b) eowd, By 2a=

Options :

]szb






Question Number : 52 Question Id : 550053212 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

LetA (2.3).B (3, —1) and C(-3. 2) be three points. If the centre of the circle
passing through A, B and C 1s (h, k), then 2k—4h =

A(2.3).B (3. —1) &8 C(=3. 2) Surcds Dochodywdadoomro. A, B drbaku
C o thoz J'eh Sydo dws), Sodo (b, k) wand, @y 2k-4h=

Options :

% 0

Question Number : 53 Question Id : 550053213 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

!

(2m)
and Q| —

\I
\
G
/ \i

-
o
J

IfP

. s ) 7 .
represent two points on the circle X" +y" -4x+6y-12=01in

\

parametric form, then the length of the chord PQ is

() 2n)
~ | 3060k Q[—

’ -
\,D/ S

DoBVR DTG drded ArdR, i)\ & PQ 6w Jed)

P 0 X' 4y —4x+6y-12=0e Hy802 (fv Bocd

Options :

Question Number : 54 Question Id : 550053214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let A(1.2) be the centre and 3 be the radmws of a circle S. Let B (1. —1) be the

. : B . .
centre and 1 be the radius of another circle S". If — 1s the angle between the circles S
3

and ', then the number of possible values of 1 i

w8 Byd0 S aog) Soddo A(1.2) Sobat arfhdo 3 edoshorro. S @D B

580 ), oo B(~1. ~1) bty (o 1 wdorro. § ooty §'
STV aiuc,s?gg5 £30 g 90208, WY\ T GG FERE Jewde Q02

Options :

Question Number : 55 Question Id : 550053215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The perpendicular distance from the origin to the focal chord drawn through the
point (4, 5) to the parabola y* —4y-3x+7=0 is

2000 Docosd) od ¥ —4y-3x+7=0 Hedocirds, (4, 5) Do) o
AR TS tfo vow b



Options :




Question Number : 56 Question Id : 550053216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

? 7

P4
/

-
Let the length of the latus rectum of an ellipse —+==1 be equal to the length of

2

a

its semi-major axis. If the radius of its director circle 1s 3 and e is ifs eccentricity.
then the length of its latus rectum is

" l— =1 s, Thoowo T T brgoTe & A
T
D0 wdgome. o v Hydo AY TR0 3 0Bty @

X

AL (563503@0
o0

&8),049 & wod, YYD o) T vow JeED
Options :

1

a
1.%

T | -



Question Number : 57 Question Id : 550053217 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let (1, 2) be the focus and X+Y+1=0 be the directrix of a hyperbola H. If B s
the eccentricity of H, then its equation is

w8 wdvTsvabo H aiog) ) (1. 2) &ndakw dovd 6 x+y+1=0
eiogozro. H aog), ea&ogé\@ o, B\ T 294860
Options :

x*—6xy+y —14x—22y+17=0

X’ —6xy+y +10x+14y-7=0
2. %

x*+6xy+y° —14x-22y+17=0
3.%

X?‘ +6X}r+yz +10X714y—7 =0
4.¥



Question Number : 58 Question Id : 550053218 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

? 7

IfS= B el --1=0.keR- {7.11}. then which one of the following statements
is incorrect?
B ;27 +ﬁ—l =0.keR-{7.11} wond, CON 408 psTRL’ 8
NOODHE 5°6?

Options :

S=0represents a circle with radius J2 . when k =9

, k=9 eondip e, jargo V2 e DA% 5T S=02rd008
1.

2
S =0 represents an ellipse with eccentricity \/; , When k=10

f)
k=10 eponidip o, 68),08¢ \E ™ 5003 w8 8¢ Jzrd) S=0Ard0d
2.% )

; : T
S=0 represents a hyperbola with eccentricity \ﬁ , Whenk =12

k=12 eondi &, &8) 088 \/% ™ $9A% 28 ©dHT Al S=0RmdRv0d

3. %

. .13
S=0represents a hyperbola with eccentricity \[; , Whenk=13

k=13 ondi\®, &8) 08 \ﬁ ™ SRR 28 ©dHTrdVAIrd) S=0 Ardioed
4.9 =



Question Number : 59 Question Id : 550053219 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

. 3x*—5x -2 T .
The function £(X)=,— - has discontinuous points at X =

28 =Ix+49
, X -5x-2 ..
D000 1(X)=,[— - 39 &0 DI\ Docdospen X =
2T ;

Options :

5/2. 2
1.%¥ 7T

—1/2 »
, % 1/3,2

5/2

v 1,5/2
4 % —1/3,1

Question Number : 60 Question Id : 550053220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



) o 4
[ ] %52
X-2
b. x=12
If f(x)=
(x) }XZ—X—Z‘
—7. _1< ng
a(2+x-x")
\za—b. A |
oA
; . . . sin” ax +xtanbx
1s continuous on X. then lim 5 =
x—0 X
X—[X] X>2
X-2
b x=2
fX = 2
(x) ‘X-_XJ
—, —l<x<?2
a2+x-x")
2a-b. x€-1
sin’® ax + X tan bx
00 R P eodd ) dw 0ond, oy lim—— =
: x—0 X*
Options :
1.% 0
1
2. %
3.¢ 2



Question Number : 61 Question Id : 550053221 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let [x] represents the greatest integer not more than X.
S+(x]
e

The discontinuous points of the function f(x lies in the

interval

X $085 D50 5 6% rTogDeod [x] Ardiuod wivSed,
g 5+[x]
YU+ [x]-6y2[x]

Options :

DROITAS (o) DehD) Dothden ot Boddo

[0.0)

1.%

Question Number : 62 Question Id : 550053222 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



I ’ df_-' 2o\
If x*y? =e°, then | })

) (&)
d’y )
X'y’ =€ wond, XD L=
L dx /(e.e
Options :
1(dy)
e dX ‘1e.e)
1.v
dy |
S % dX Jiee) ©
" dy | 1
dx ’,ee‘ e
3. %
(dy )

Question Number : 63 Question Id : 550053223 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If £(x)=[x-3| +|x+4]. then L)t ( =
F(-D)+1'(6)
(%)= 900, @@Qm l) -6)

V+£/(6)



Options :

Question Number : 64 Question Id : 550053224 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

-’ —
—

dx

If f(x+ay)+g(x—ay)=0.then a

' dy
f(x+ay)+g(x—ay)=0 es0ne3, XD A l' =
dx

Options :

f'(x—ay)+g'(x+ay)
g'(x+ay)—f'(x—ay)

f'(x +ay)+g'(x—ay)

g'(x—ay)—t'(x+ay)



(x

3 ,
ey




f'(x+ay)+g'(x—ay)

f'(X A ay)g'(x = ay)
4. %

Question Number : 65 Question Id : 550053225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

21+x)-4

If the angle between the curves y=e and x’y=1at the point (1, 1) is 8, then

‘sin 6[ +

cosf) =

Dochdad (1, 1) 96, ST yzez(”x)'4 S08asn xzyzl © 206 i &0 0 o,
RN ‘sin(:)‘nt‘cose':

Options :

L@ 75

)
h

4 W 6"‘/ 5

Question Number : 66 Question Id : 550053226 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If a line 1s moving between the coordinate axes such that the sum of the intercepts
made by it on the coordinate axes 1§ always 12, then the equation of that line which
forms a triangle of maximum area with the coordinate axes is

QP8 wE0 06| $8od w8 T ErDS WEVD ©B B W8 Porre Ado
DD G 12 koot o, Airg wEed vird Suud’ (183 dTvlo o
Szbard) 6,63 G HE680

Options :

Xty=6

Question Number : 67 Question Id : 550053227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

N . . A
If (2.a) and (b.19) are two stationary points of the curve y= 2x’ 155" +36x+¢,

then a+b+c=
(2.2) 2080k (b.19)en S0y =2x"-15%" +36x +¢ o308, Goch Jovedy (0)

Dot BB, B\ a+b+e=

Options :






Question Number : 68 Question Id : 550053228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the points of contact of the tangents drawn from (0,0) to the curve y=x+3x+4
are (0.f3)and (7.0), then B+0=

y=xX"+3x+4 35223 (0,0) %00 ADD 8 Baven A (01, B) dadosy (1.9)
DoV ¢ DI, WY\ Pf+0=

Options :

-
!

43313

Question Number : 69 Question Id : 550053229 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

_[ dx B
4+5c0s8x

Options :
, X
1 _‘)+tall7
——log|——=|+C
3 5 X
J—raHT
1.% ‘
1 3+ta11‘7
—logl——+C
3 3 :
J—Iall‘
2.¥ -
= X
1 D—I'all;
——log = +C
9 |, X
J+tan—
9,
3. % -
< X
glog = +1C
” X
J+tan—
@
4 u

Question Number : 70 Question Id : 550053230 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If f(x)= J ,lvq — 5 dx(x=0) and £(0)=0. then the value of f(l)=

dx(x20) oo £(0)=0 eand, SR\ f(1) oB0g,

W
&
| -

Question Number : 71 Question Id : 550053231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

9
COS™ X
dx =

O ey | 5

2 g
cos  X+4sm X

Options :



I+§Tan“2
- D
T 2 .-
—?—:Tan 13
. % 2
2. % =T
T 2
s S R
" 2. 3
3. %
% 2 x5
i T 4
4 X 6 3

Question Number : 72 Question Id : 550053232 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Ixs (logx)® dx =

Options :
4 4 4
X lF X
logx)- +— (logx S TN [
(logx)* -+ | (logX)——+—
1.% N
4 4 4
S X X
loex) ———| (logx)—+— [+ C
(logx) T (log )4 e

2.%






sxr 1 xt x!
(logx)'—J{———((loox)——— +C

217 4 16

Question Number : 73 Question Id : 550053233 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

l logx+B . :
If j . dx = Alog{ - ‘}FK where K 1s the constant of

x[(logx)'wlogx—l} logx+(
integration. then
l logx+B
) dx = Alog{ - }LK. K 936 200 2008w
x{(logx)'+4logx—l} logx +C |

90N, TN
Options :

J? ={2=5), C=2+5)

Ly -
A== B=(2-4/5), C=(2+45)



A:%. B=(2+45), C=(2—5)

1 . , ,
A:—WE—., B=(2+45). C=(2-5

4, %

Question Number : 74 Question Id : 550053234 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Iff(x):T
0

-

(@+1) (t+1)* —(a=1) (t* +t+ 1)} dt, then a possible positive value of

‘a’. for which f'(x)=0 has equal roots. is

f(x):ﬂ—(ml) (t+1) -(a-1) (ﬁn-&)} 0t ewowd, 1'(x)=0 Hard dareren
I
490 eoflodos tfo ‘¥’ g av¢5mo‘.&;5 w8 (TS Dewd

Options :



Question Number : 75 Question Id : 550053235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

’>111

/

COSX +SINX

L dx =

(= LV = |

Options :

1. %

2.V 2\/5
=

3.% W2
T

4, % W2

Question Number : 76 Question Id : 550053236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

f(3F0) "ax-

Options :






10
log10

N

[ S—
()]

§ [¢]
hn

Question Number : 77 Question Id : 550053237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

and

The area (in sq. units) of the region bounded by the curves y =4 \cos X

TT
y =~—|cosx| from Ao B

T T
X=-= &0d = 569 y=4/cos | &Bakw y=-|cosx| Szed DBRE

i

Frodh DT (15, cardped)

Options :

;% 0



x 12

Question Number : 78 Question Id : 550053238 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
o dy

T = yk’(y logx+dlogy+1) is a homogeneous differential equation. then
dx

v

If x

dy .
x" — = Y (ylogx +510g y +1) 9 wé porSoh eddud 2EdR0 wond,

x "~
QQQ)QCQ)

Options :
a=pand y=-3

a=p Hdatwy=-0

a=PBand y=5

o= Hdasny=>95

a#Pand y=05

ozP Hdaiwy =0



o= and y#0

o =P Hdaswy £d
4. %

Question Number : 79 Question Id : 550053239 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The general solution of the differential equation
) 2 .
tan X tan ydx +cos™x cosec’y dy =0 1S

29590 ADEGHIY tanx tan ydx+coszx coseczy dy=0 obos), O PSS

Options :

2 2 3
tan"Xx+cot"y=C

1. %
2 2 .
cot"x—tan" y=C

2.%
, v fan" x—cot’ y=C
2 2 ,
cot"x+tan" y=C

4. %

Question Number : 80 Question Id : 550053240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If ¢ and P are respectively the order and degree of the differential equation

dy d%y|
lix & | . ) 0
y=e . then the value of atof +a* +..+0P =
( ﬂ‘d%y
; .
IR DASBHAY Y=g Gig), 28:37e0 o B SEHS P evod,
s S
ey a0 +a 4 40P =
Options :
22025 i,
1. %
~2024
Y
2.% © +l
~2024
3.V ©
2024
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Question Number : 81 Question Id : 550053241 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following, the unit of permeability is NOT represented by

308 TOS" 08,0HDYS § PAFETY ArosIS
Options :

| % henry/metre

weber/ampere

2.7
ohm-second/metre
3.
; 2
, volt-second/metre
4.¥

Question Number : 82 Question Id : 550053242 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A truck moving with a constant velocity 12 ms™ crosses a car moving from rest with
op . Ly, . A . .
uniform acceleration 2 ms™. The distance the car has to travel from the starting point

to cross the truck again 1s

N ?86.’9 4208 2 ms” {o:uégdeaoeﬁf’ Seoaidd) s & 12 ms” ?86 Stiod
QOO w8 B T A0t 9y08. §1B Fdo ol 6 38A By &
DR HOLTEOSHVND ErGo



Options :




- 50 m

- 60 m

144 m
o

120 m

Question Number : 83 Question Id : 550053243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If 13:(4i—103)N and f=(}5i—3})111._then (rxF) is
F=(4i-10j)N 8050 r= (-5i-3j)m. eond (rxF)
Options :

(~20i+3j)Nm

1.%

62k Nm

10\/5 Nm

3. %

38 Nm



Question Number : 84 Question Id : 550053244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two forces whose magnitudes are in the ratio 5:3 are acting at a point at an angle 60°
stmultaneously. If the resultant of the two forces is 35 N, then the magnitudes of two
forces respectively are

20APERe 53 A e’ o G0k weren I8 o8’ a8 Dotoi 3¢ 60° S0

OABROT™) A0, Fotky Bre DS Dewsd 35 N eond T8 HBAFEFRD SERTT

Options :

12N,20N

Question Number : 85 Question Id : 550053245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A block of mass 5 kg moving on a rough sutface with a velocity of 4 ms” i stopped
by the friction in 2 seconds. Then the coefficient of friction between the contact
surfaces is

(Acceleration due to gravity = 10 ms'l)

B3T3 5 kg o 90 2,8 A% Svop 4 ms™ Srio & e 206 S0 2

S0 Vgy0 1S3 D, &8 0\6\Bere) 6] e thiago
& ¥ o}

(rbcbég &0t = 10 ms ™)
Options :

. 04

Question Number : 86 Question Id : 550053246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The following is not the method of reducing friction

208 TS’ 0GR Shod DS G

Options :






applying grease

A0 Troéo

applying paint

B8 DoE0o

forming a thin air cushion

DA O DER) SIS Voo

Question Number : 87 Question Id : 550053247 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A body of mass 2 kg is moving with a constant acceleration of | 21+31-k |ms™, If

\

/ A

Ji-j+2k } m then the work done is

the displacement made by the body 1s

\

[ A AN A)
2i+3j-k ] ms™ R (0008 SO 608, & SR

\

2 kg BT o w8 S

[3'1’- i+ ik] m Fdgoso 3083 18D B

Options :



, x 129

107

Question Number : 88 Question Id : 550053248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In the case of non-conservative forces, the following statement is correct.

@Dé}gé& QPO 020G, S08 DIIHVBN VBAHHY.
Options :

The work done by non-conservative force in a closed path is zero.

w8 Doy JrgodS” SIS w00 BHD DY BrAo.

The work done by non-conservative forces does not depend on the path.

@Z)é?gég XTI WA DA D80 P BETEDERD.

The work done by non-conservative forces depend on the path.

B[S UL WD DA &5do D BEPEHEIS0E.

There 1s no energy loss in case of non-conservative forces.

0 DeIA] LerOe ¥ Jren Eottad).



Question Number : 89 Question Id : 550053249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two particles of masses 5 gand 3 g are separated by a distance of 40 cm. The centre
of mass of the system of these two particles

5 g 0801 3 g G3{om0en o Gock Smen 40 e Erdod S Satberd &) 2. &
Gocdy S0 (O Tg), BT 50630

D : _
Options :

lies at a distance of 15 cm from 5 g particle

5 g %e30 A00d 15 cm Sr80eS” &0t

lies at a distance of 25 cm from 5 g particle

5 g $890 A00d 25 cm GIrd0es” &t

lies at a distance of 10 cm from 3 g particle

|« 3gSmo &00& 10 cm SrGoes” &ocodo

lies at the mid point of the line joining the two particles

Goct Seredn SO Ba 206y Do) DG Eotdd

Question Number : 90 Question Id : 550053250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The angular speed of a rigid body rotating about a fixed axis 1s (8-2t) rad 5! The
angle through which the body rotates before it comes to rest is

w8 0 50 Do Pk BokvcD) af Gyd ) Seiab 9d (820 rad s
D3y0 D3 D 268 &8 Y Fiowo BV Seao
Options :

.- 8 rad
, 12 rad

v 16 rad

") x
. 20 rad

Question Number : 91 Question Id : 550053251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

i
An object of mass 3 kg 1s executing simple harmonic motion with an amplitude—m.
n

If the kinetic energy of the object when it crosses the mean position is 6 I, the time
pertod of oscillation of the object is

)
=1 0% DOMAS 3 kg B0 o w8 SR HOY¥ TTEE oo
1

Saf0cod) 8. S0 P08 0 & T D) T Sz 33 6] wand

S0 EoTddd S0

Options :

1 &






Question Number : 92 Question Id : 550053252 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

As shown in the figure. a block of weight 20 N is connected to the top of a smooth

inclined plane by massless spring of constant 87" Nm™. If the block is pulled
slightly from its mean position and released. the period of oscillations 1s

(Acceleration due to gravity = 10 ms?)
9608 AP Do 20 N erbo o) 2 B} w8 Q0PD v w0 PErTS
Diosed 877 Nm™ i('gmoéo o w8 Yoh A guodwcod. ARV T wa‘gms

Fdo dod SAT erfl 9B, Eormrdgd s

(thdod b0 = 10 ms'z)

Options :



Question Number : 93 Question Id : 550053253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The orbital velocity of a body near the surface of a planet ‘A" is equal to escape
velocity of a body from the planet ‘B’. If the masses of planets A and B are same, the
ratio of their radii 1s

e ‘A’ ders CSQCSW WS DY) Q"ibsb SE:S D, (d&raw B’ dvod

28 DRV A0S, DEPODHD MV VAT, &8 Boch ire G

DEPH0%, A 6050 B i TiRrTe Mg

Options :



Question Number : 94 Question Id : 550053254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A spherical ball of volume 2000 e’ is subjected to a hydraulic pressure of 15 atm. If

the change in volume is 5x107 cm’, the bulk modulus of the material of the
spherical ball 1s

(1 atm=10" Nm™)

2000 e’ 0898470 (o 28 Hvrsd 008D 15 atm TEdS HEdo $DRINDE
8084 res0s” 5x107 cm’ Sy b&bé&, 900M €3 HYw 0R0), BSOS
(DEIS

(1 am=10" Nm"~|

Options :

6x10"° Nm™
1.¥
2% 10" Nm™

5%10" Nm™

15%10" Nm™



Question Number : 95 Question Id : 550053255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The gauge pressure at a depth of 50 m 1n a sea 1s
. — AR 3 2
(Density of sea water is 1025 kg m™ and g= 10 ms™)

208 DB0GS” 50 m S0 DG BE Hedo

(RPwgo A cing) Fogd 1025 kg m” S0k g=10 ms™)
Options :

1025 Pa

1.%

5 512500 Pa

;. % 20000 Pa

4 » 15000 Pa

Question Number : 96 Question Id : 550053256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The emissivity of a perfect black body is increased to 16 times by increasing its
temperature. If the nitial temperature is T. then final temperature of that black body
1S

w8 $y2 S0 &S Dotk Sy GTES 16 80 LoD, T & &S T

00 S8 Tt



Options :




Question Number : 97 Question Id : 550053257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The temperature of the sink of a Carnot’s engine is 300 K and the efficiency of the
engine 1s 0.25. If the temperature of the source of the engine is increased by 100 K,
the efficiency of the engine mcreases by

8 abogo Ging) Iserdoto et 300 K Sobos ahogo g 0.25. obogo
G, oo &alido 100 K 2od#, abogdo d5a8 divrbese

Options :

[« 050






Question Number : 98 Question Id : 550053258 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A monatomic gas of volume “V" and pressure ‘P* expands isothermally to a volume
*27V" and then compressed adiabatically to a volume V", The final pressure of the
gas 18

V' 09084760 08050 P 90 (o) 28 DED8ATE TPod0d), D) el
280D (o 27V 0d00aradd T8 dod. Sooer s piek T V'

o

0NDBITETAS DoDEN0 BoBIO. T G, 306 RIARS

Options :

3. oP

, % 4P

Question Number : 99 Question Id : 550053259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The specific heat capacity of a monatomic gas at constant volume 1s X7 of its specific
heat capacity at constant pressure. Then x =
28 98 DEAPEVE TOH0Y) G N 0 DOSrE0 I¢ tfo mgg 3":»9)50 AR

26 50 36 B0 DT Fd6.0 & X L eond x =
® o & £ )

Options :

40

1.%

hn
(a]

60

~1
N

Question Number : 100 Question Id : 550053260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of rotational degrees of freedom of a monatomic molecule is

28 DS DEXTEDS VEVH o) Fhes ey Bedoen

Options :



Question Number : 101 Question Id : 550053261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

, P L .
A string of length ‘L’ 1s stretched by 7 and the speed of transverse waves along it

'

g gy g i L,
1s ‘v". The speed of wave when it i stretched by Ewﬂl be
(assume that Hooke's law 1s applicable)

L
V' 8ot Do SDAMD 2 365§ Sdotio ‘L TSy 596 Brido o T o

csdre Tockmgn FMBabo R JEYENE. 6d Brid % T XD

FHESHD T Drto?

(08 Dahard) DBrieasd 'S G208 Adw)

Options :




4v

Question Number : 102 Question Id : 550053262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The magnifying power of a telescope with tube length 60 cm 1s 5. Then the focal
length of its eye piece 1s

60 cm TP¥o J'cied) SRR st ciog) St 3%539)50 5. s ©f
8080 03”56 mrsoédo

Options :

- 20 cm
40 cm

30 cm

10 cm

Question Number : 103 Question Id : 550053263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In a Young's double slit experiment, if the wavelength of light is increased by 50%
and the distance between the slits is doubled then the percentage change in fringe
width 1s

akbofi 208 QLY PR’ 08 S6or3T D) 50% Dod, D8V B0 GroRy
a0 B3 D8 Db Iy drdy Tdo
Options :

IE

Question Number : 104 Question Id : 550053264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The net electric flux due to a uniform electric field of 3x10°1 NC™ through a cube
of side 20 cm oriented such that its faces are parallel to the coordinate planes 1s

20 cm Zwaw Ko wé v 3x1071 NC! GDS o 568 S E808" o)
SO0 AETDE SVAVVL) DATOSEANT EoINER 7 ot PO Do

NIV






. 15 Nm?c?!

. 20 Nm’cC™

Question Number : 105 Question Id : 550053265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A block of mass ‘m’ and charge ‘q’ is connected to a point ‘O’ with an inextensible
string. This system is on a horizontal table. An electric field (E) is applied
perpendicular to the string and 1n the plane of the horizontal table. The tension i the
string when it becomes parallel to the electric field is

B3T3 ‘', DI Q' o 08 B ‘0’ DoGoDILD 8 FrivtnSed &S
SR0DBEDB. & DR w8 EOB VAF0SE BY P &) B, S Lo, VATOSY
0y Svod’ a8 D58 De 8 Edo (E) I wxdfomrid. & & s Egrds

Qaroddorr a&aa@‘)w e &(f 03009 é&)&é

Options :

1.% qQE



Question Number : 106 Question Id : 550053266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two capacitors of capacity 4 (Fand 6|.F are connected in series to a 500 V battery.
The potential difference across 4 |IF capacitor 1S

S8 4 IIF, 6 IF Ao Goct SFOG 8" 500 V ergtad § $D0Teh. 4 i
506 i TEJaHS de

Options :

200V

300 V

400 V

500V

Question Number : 107 Question Id : 550053267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In the given circuit, if the current flowing through 5 resistor 1s 0.5 A then the
value of E i

G0y Sood” 5Q B0 ore HBres ko 0.5 A o E desd

K20
-
II
100 30
My Wy
MWy
100

50 ,
§ $0 § § &8

Options :

4V

1.%

Question Number : 108 Question Id : 550053268 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The drift velocity of electrons in a conducting wire connected to a cell is Vg, If the
length of the wire is doubled and area of cross-section is halved then the drift
velocity of electrons becomes

28 BHD $BDD g S’ Joghow ¢ Hifdw V. & Trird &
ey Bedory B 2060 S DFOER Hifdw SVD JoTdow ¢
R

Options :

V,

1o |Q<I

Question Number : 109 Question Id : 550053269 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The relation between permittivity of free space, the permeability of free space and
speed of light 15

i)ogw‘)oéwﬁ 3)6&&3)&. fosw()oérw b@&oﬁ)ai’)% A80kn 5008 Aé © Q6%

02080

Options :






B I, o
OLO C2
1
€ollo = 7
2.V ¢
1
. oo c
3.
o
4 %

Question Number : 110 Question Id : 550053270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The magnetic force q [v X B] is
03,08 ewo q [V X B]
Options :

parallel to both v and B

V 208030 B 9% 3odo8dS HdrodhEorr eotnod

perpendicular to v

V 5D 00T &otoH
2.%






perpendicular to both v and B

V 208030 B 950 30R08S ©0830T &0t00d

parallel to B

B £ Do Sorr eotod
4, %

Question Number : 111 Question Id : 550053271 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

One of the following substances having the tendency to move from stronger region
to the weaker region of the magnetic field is

& $08 Dol Lol 08 Edo AIg) LVD Fodo ol BT
Fomrds D) 86539 $9A gocd
Options :

paramagnetic

&mwo&&zjoééss&n

ferromagnetic

28 eao:i)b*’boeéé‘scmo

diamagnetic

c:iojreao:bﬁ“?joéécsm



ferrimagnetic

b@woﬁa&boéésm
4. %

Question Number : 112 Question Id : 550053272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The Lenz law 1s associated with
T0o% D00 308 TS Do2oBoNIE.
Options :
law of conservation of charge.

030 Z):o‘)ég QO30 0.

1.%

law of conservation of mass.
c&bg .i’){o‘)ég QO30A0.
2 w e ou

law of conservation of angular momentum.

. Sedab ) D5 DS dadavo.
3. =

law of conservation of energy.

- 35 DS DaHwo.

Question Number : 113 Question Id : 550053273 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

An inductor and a resistor are connected in series to an ac source. If the power
factor of the circuit 1s 0.5. the ratio of the resistance of the resistor and the reactance
of the mductor 18

w8 DOSAM BA w8 AT AL wé ac 28573 336" SLHWED. Swaho
) ;‘m% 5650 0.5 e Fesgin gy, AEr3 0Bk oW

gy, B3 o A

Options :

]Ql:l

Question Number : 114 Question Id : 550053274 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The device used to detect infrared radiations is

DT DSEETFOR (D80S DA

Options :






bolometer

£5%¢5° ercd
W

2.

photocell

SP03:0080
3. %

point contact diode

ALl ) I()Dd;) [atobbila
4. %

Question Number : 115 Question Id : 550053275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The de Broglie wavelength of the most energetic photoelectrons emitted from a
photosensitive metal of work function ¢, when light frequency v incidents on it is

L. Then v =

(h - Planck’s constant, m — mass of electron)
0 20030 § o w8 T Arg)IrRS oo p v Y[ 0 08

3.0 A.

AR\ eTrddy 162 (182 33 fo Terdow dgrdd 8o 3 5

900D V =

(- o8 dorogo, m - oy B¥(T3)

Options :
20 h
h mi’

'I %



2_¢_ h

A 2
S % h  ma
) h
Lo + =5
. h 2mA°
0 h
4% h 2mi-

Question Number : 116 Question Id : 550053276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The centripetal acceleration ‘a’ of an electron in an orbit of hydrogen and the
principal quantum number ‘n’ of the orbit are related by

TEad w8 $5(6°D TS dog); w30l S(é0 ‘4’ 2Bk €55 )
QE 5200 Do)y ‘1’ S8 &) Doeocso
Options :

2
adn
1 E

ad

n-

. aon’






ao—r
1l

Question Number : 117 Question Id : 550053277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The radius of the nucleus of an atom whose mass number 1s 125 18

28 DOXPY GB°3 Vo 125 owd &8 HEATER Sogs TG Dewd
Options :

o 1x10™"”m

L v 6x10°m

10x10"m

16x107°m

Question Number : 118 Question Id : 550053278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The material used in the fabrication of infrared LED’s 1s

HoeGoe LED © a3r8e5° o& HTGo

Options :



silicon

DO

germanium

22,8(13;‘00530

gallium arsenide phospide

a0 3G \DE FNE

carbon dioxide

S°dé)5 G Ugb&

Question Number : 119 Question Id : 550053279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a transistor, when the emutter current changes by 9.85 mA, the collector current
changes 0 9.5 mA. Then the base current 1s

N6 &' &g Doy 9.85 A Sr6 HsBedS” DS 9.5 mA T Br8¥6.

)N loge Dcﬁssé a3s), DD

Options :
0.05 mA

1.%

L % 0.85 mA



3 % 0.8 mA

Question Number : 120 Question Id : 550053280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Band width of an optical fiber is
GyFTSoBOY VY, DG DE DeLewy
Options :

more than 100 GHz

100 GHz 083 Qéobb
1.v

less than 1 MHz

1 MHz 083 ésbbb
2. %

less than 1 GHz

1 GHz Zo0é3 ée‘obb

3.%

less than 100 kHz

100 kHz Zoé3 és‘%b
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Question Number : 121 Question Id : 550053281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following electron arrangement does not obey Hund’s rule?

308 TS J JUTN VLY 0k AoHATD) FBocsco?

Options :

WA

1

1IN |

3. ¥






Question Number : 122 Question Id : 550053282 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The de Broglie wavelength of an electron travelling with 20% of velocity of light is

(h = 6.626x 10™Js: m,=9.1x10"kg)

508Dt08" 20% Stfod Hodreod QTR ), ) édod@_géo
(h = 6.626x 10™7s: m,=9.1x10"" kg)
Options :

24x 10 m

o 1.2x107 m

36x 10 m
=4

, % 48X 10" m

Question Number : 123 Question Id : 550053283 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct order of covalent radii of Si1. Ge. Sn 1s:

S1, Ge. Sn oS, g 55085 D}g«%”g‘@é 20230800 DB Sdvo

Options :

1.



. Ge < Si1< Sn

) % Sn < 81 < Ge

L S1< Ge < Sn

. Sn < Ge < Si
4.

Question Number : 124 Question Id : 550053284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The first ionization enthalpies of Na. Mg and St are respectively 496, 737 and 786
k7 mol”. What would be the first ionization enthalpy of Al in kJ mol™

Na. Mg 08050 Si & 300t e000RS6e Jogryeo SR 496. 737 dat 786
kI mol™, Al GBg), e 90 DE8e QOQ"% k7 mol™ 0&° doss?

Options :

450

1 E



Question Number : 125 Question Id : 550053285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following sets is correct?

308 DBVY’ VEGRG AB?
Molecule | Hybridization | Geometry Number of lone pairs of
wrvd) | 00888800 wz@’é electrons on central
atom
S0¢38 DEATEVY) D
w080 28 JUTR ©
:ooa,ss
I SiHy sp5 tetrahedral 0
BEr e
I |BeCl |sp° linear I
Gt
Il |SE dsp’ square planar | 1
Do) S808
IV |SoChL  |sp linear 0
das
Options :
vl
, II



Question Number : 126 Question Id : 550053286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is not the property of covalent substances?

306 OGS DB DAAFRAW DTTV (6B SG?
Options :

have definite shape

D8R 383D SO clwoeron
Q0O ) B

have low melting points

90 BIFDHD FT O D adotrown

good conductors of electricity

Aoow) Dci:gé Fo o o ul B0

soluble in non — polar solvents

D groBees’ doMaron

Question Number : 127 Question Id : 550053287 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






At 300 K, one mole of a gas present in a 10 L flask exerted a pressure of 2.706 atm.
What is its compressibility factor (Z)?

(Given R =10.082 L atm mol” K'l).
300K 965, 101 3Ry, &' a0 3r6 aratine 2706 atm o DG Seuff E008.

G ROE(T (Hrgin () Jod?

(a6 R =0.082 L atm mol ' K™)
Options :

, = 1.0

Question Number : 128 Question Id : 550053288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At T (K). equal weights of Hy, Dy, and T, are present in closed vessel. The pressure
exerted by this gaseous mixture is P atm. The ratio of partial pressures of T, D, and
H; is approximately

(H, D and T are isotopes of hydrogen).
T (K) 56, a8 20 FgS" 2 erdo o H, Do, bty Tr 670 o, &
T0500 B0 $DAo EdAW P atm. Ty, Dy 080kw Hy © Fas adare

G W Jod?
(H. D &80k T en 3e&ad o' ).

Options :

0:33 033 0.

(%)
(VY]

1.%

, 0.18:0.27:0.54

0.54:0.27:0.18

Question Number : 129 Question Id : 550053289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. 1 . 1
6 g of urea (molar mass = 60 gmol™) and 9 g of glucose (molar mass = 180 g mol”)
were dissolved m 35 g of water. The mass percent of urea and glucose is
respectively

6 g v afrdosr (Arerd &edyo2 = 60 gmol'l). 9g e dr8sE (Arersd bt
=180 gmol™) wdv 35 g © DS’ BRoaeh. alarbase wbaky ArEE o &°d
TS0 QT

Options :

| %1812
, %6.9
, »12.18

4 %9.6

Question Number : 130 Question Id : 550053290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the work done by 2 mol of an ideal gas during isothermal reversible expansion
from 5L to SOL 15 -189.1 L atm. at constant pressure, the temperature of the gas

(in °C) 18

26 0 3¢ 2 mol © BEE\TaRY HATY a@bme%cm T8 08 5L dood

(]

S0L £ Sr8RR)E P80y B DA -189.1 L atm 9008 araine) egﬁgé (°C
0d)

Options :






Question Number : 131 Question Id : 550053291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
At 300 K the enthalpy change for the following reaction s -2800 kJ mol®
C,H,,04(5) + 60,(g) » 6CO,(g) + 6H,0(])
What is the AU for the same reaction at 300 K (kJ mol™)?
300K &¢ Sodd SB[ oow%eﬁﬁ &r6dy -2800kJ mol”, @3 <36(% 300 K ¢ AU
(KT mol™) dods?

C.H,04(s) + 60,(g) - 6CO,(g) + 6H,0()
Options :

| -2802.49

- -2800.00

|« 281494

4. %



+2802.49

Question Number : 132 Question Id : 550053292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

At T(K), the equilibrum constant for the reaction aA(g) =bB(g)is K. If the
reaction takes place in the following form 2aA(g)=2bB(g) its equilibrium

constant is K. The correct relationship between K and K_is
T(K) 96, aA(g) =DbB(g) B8] % 20878 008w Ke. 86§ S8 eforr
2008, 2aA(g) = 2bB(2) dErRd Nrrogaw K. wowd K. ot K, ©

:uc_Ss BAA {oo&)om‘i)i B0

Options :
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






Observe the following solutions
I. Black coffee II. 0.2M NaOH II1. Lemon juice
IV. Lime water V. Human Saliva VI Tomato juice

The number of solutions having pH range of 1-7 and 7-14, in the above list. is

respectively

308 mrdmrdy 0830w

L 0 50 I1. 0.2M NaOH IT1. Do} 80
IV.200) ) 0 V. &rdd ereraeo VI &are’ 6o

D wde & pH w6 1-7 208050 7-14 o rirre dogj SO

Options :

L

hn

)
(8]

!\)
I

2

s h

Question Number : 134 Question Id : 550053294 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Among the following, the correctly matched pair is

308 TS DO 2¢h BOWAED 208



Options :




electron deficient hydride — SiHy

DUV ARG o EE — SiHy

saline hydride — CtH

26D ra& — CrH

electron precise hydride — HF

QUL SI\orr o re& — HF

electron rich hydride — NHj3

oDe)'es;mw &Sore (o *G& — NH;
4.Y ¥

Question Number : 135 Question Id : 550053295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following
ListI

(alkaline earth metal)

A Be

B. Mg

C.Ca

D. St

308 O 2BDGNG

EatAb |
(78 20y3¢ &'ero)

A.Be

B. Mg

C.Ca

D. St

The correct answer is

2BGD DATERD0

Options :

1.

2.

3 % A-II. B-I1. C-III, D-IV

. A-ILB-IL, C-I D-IV

. A-IV, B-1, C-1I, D-III

List II
(density / g e’

I 174

II. 1.84

II1. 2.63

IV.1.55

et ||
(rogsds / gem”)

L 174

II. 1.84
III. 2.63
IV. 1.55






Question Number : 136 Question Id : 550053296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The correct order of melting points of Al. Ga, In 1s
Al Ga. In © gDFHD T OGS §00
Options :

Ga<In < Al

1.V

» IN<Ga<Al
2.

. Al<Ga<In

Ga<Al<In

Question Number : 137 Question Id : 550053297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Among the following the correct statements are

[. Germanium exists only in traces
II. PbF4 molecule is tetrahedral in shape
ITI. GeX> 1s more stable than GeXy

S0& TS BB Ty

I. &3),doto G% o T DS
I1. PbF; e9820s)) 3¢5 ¢e5 es53y8 57 aHotnod
III. GeX4 %083 GeXs Qsobb f‘gd@é&

The correct answer is
DO DATTEV0
Options :

I1. III only
IT. IIT &oeghad

1.%

L IT only

L v L IT sSoegdado

L II. III

LI III
3. %

I, IIT only

. LI s
4,



Question Number : 138 Question Id : 550053298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following reaction is not feasible?

S0& HE[RS" A& JresgHn So?

Options :
95% H,SO,
CH; —CH, —OH » CH,=CH,
® 443 K
1.
75% H,S0,
HyG~CHy—CH;—ChH;—OH » CH; —CH, —CH=CH,
300K
2.V
?H 85% HPO,
HsC—CH,— CH—CH, » CH;—CH==CH—CH,
__ 440 K
3.%
e CH,
| 20% HsPO, |
| 358 K
CHs
4. %

Question Number : 139 Question Id : 550053299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following

308 TP WSDEIAD

List -1 List - II
Hg", HO
A. HC=CH —— I H4C-COOH
H0 :
CH = CH ('g C
B. 1 Mo,O; A Il 3 H;
< _— 3
= H¢  CHs  Zn H0
KMnQ
D. CH,—CH=CH-CH, — » IV.  HCHO
H+
Options :

A=1 B=I C=IHO D-=I¥

» D=1 B—, €= B =1
2.

A=l B=IV, C=IlI, DIl

A= B—=Il; €—=IN¥; D—I

Question Number : 140 Question Id : 550053300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In ABy crystal structure, A atoms occupied all octahedral as well as all tetrahedral
voids and B atoms are at FCC centres. What 1s the formula of compound A¢By,

AB; 9\88 Joym0d” A DormQ 8 BTES, werd ©) BrTEd
Bogrody BgaLocRD, 8ak B Harmden FCC Sogred’ eotrow. AB,
GI0g), P EP JE?

Options :

AB3
A10B3
A15B36

, v AB

Question Number : 141 Question Id : 550053301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the van't Hoff factor of Ferric Sulphate (Assume 100% ionization)

2085 {oejbéS abos), Tr0t) e Deago odd.

(100% e90$RE6e30 BN 9508 808)

Options :

2
1.%






Question Number : 142 Question Id : 550053302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following does not belong to an ideal solution?

308 TS’ VS BG8, OIS 0020B0NHE S°E?

Options :

- AH__ =0
A\im'x = O

2. %

Obeys Raoult’s law over the entire range of concentration

@) TPES © e9dcees’ 0" DBy Dot
3. %

Does not obey Raoult’s law

5" DOy oS,
4.¥

Question Number : 143 Question Id : 550053303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

: : Pt ;
The rate constant. k of a zero order reaction 2NH; (g)—zz— N, (g)+3H, (g) is

yx10™ molL™s™. The rate of formation of hydrogen (in molL™s™)is
INH, () N, () +3H, () 5 sndy 8208 560 66 yevoso, k

ensd yx 107 mol L s™ eoand rEBS A6y& Gtv (molL™s™ o)
Options :

vx107*
1.% 7

Ixr -4
2yx10
2. %

Question Number : 144 Question Id : 550053304 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of Faradays required to completely deposit magnesium from 1 L of
0.1 M MgCl, aq. solution is
LL0.1MMgCh aogrsnan &od 30f) 20500 Q AED0 PIoOLL FH0N

o olal3) 20pf Jok?

Options :



Question Number : 145 Question Id : 550053305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The most effective coagulating agent for antimony sulphide sol is

083 DT\E FS £ WSO TS 29,0688 Qﬂxugéo e S°8<0

Options :

K,SO,
LE

NH,CI
o

Al, (S0,),
3.V

K, (Fe(CN),)



Question Number : 146 Question Id : 550053306 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The plot of log— (v —axis) and log p(x-axis) is a straight line inclined at an angle of
m

45°. When the mtercept, K 1s 10 and pressure 1s 0.3 atm the amount of solute in
grams adsorbed per gram of adsorbent (log3 = 0.4771)?
X
log—(y-wgo), logp (x-050) © 6y AR BartisS” w8 DOV B 45° Epod
m

D616o208. @086 wocko, K =10, 360 0.3 atm 900w 2,8 T80 08T g0
0HF 000 Bodd Trad dwdo Ty 0P (logd = 0.4771) o

Options :

;% 30.0

Question Number : 147 Question Id : 550053307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List -1

(Name of the mineral)
A. Calamine

B. Bauxite

C. Kaolinite

D. Cryolite

308 TP BSDBVAD
e -1

(20220 E)

A 500

B. &r5y6

C. S35

D. B¢

The correct answer 18
STeleb VRN AN

Options :

1.

5 A-IIIL B-IV. C-1. D-V

3.

o A-IV, B-III. C-1, D-II

o ALV, B-II; C-V, D-1

List-1I
(Type)

I) Sulphide
IT) Halide

[II) Carbonate
IV) Oxide

V) Silicate

>Aoe-11
(6%0)

IJRNIN

1) :fg&

III) 5°8 )8

IV) 85 G

V) 293¢5






Question Number : 148 Question Id : 550053308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the reaction in which oxygen is not one of the products

9320 w8 GBS0 0T DBE B5E(R (HBoehdBW
Options :
XeF, +H,0 —

1.%

. XeF, +H,0 >
2.

XeF, + O,F, —>

4

Question Number : 149 Question Id : 550053309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Arrange the following in order of mcreasing number of unpaired electrons in them

308 T TS Q) ABMPED JoFR 0| D87 Sho8” widyod.

i, [Fe(CN),] ™ ii. [MuCL,] ™ iii. [FeF,|” iv. [Co(NH,),]”
Options :

| = LIV L i



o« iV 1 i, i

o WV L i

4% 1.1V, 111, 11

Question Number : 150 Question Id : 550053310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correctly matched pairs
1. T1O — pigment industry
ii. MnO; — dry battery cells
ii1. Cu/Ni alloy — UK ‘copper’ coins

oo RSABADLGD 2oLV (HBodod

i. TIO — 73 085 83

ii. MnO, — eomg emgéoé 0T

iii. CwNi Q320 <o - UK ‘s5006° medsen
Options :

s AL, i

i1, 111 only

i1, 111 g
2.%



1. 11 only

1. i1 oegdad
3.¢

1. 111 only

1. 111 e
4. %

Question Number : 151 Question Id : 550053311 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which of the following pairs the polymer is correctly matched with the forces
possessed by then.

A. Neoprene ----  Weak intermolecular forces

B. Terylene ----  Hydrogen bonding

C. Polystyrene ---- Very weak intermolecular forces
D. Polythene ----  Hydrogen bonding

308 2 2308 FDi6 TAF eod wered DO 2o Foecod?

A JBFDS - WVPR WSS 95 LT
B.860S - ZEad wodo

C. 3008 - 03 wwerd wode w0 LEL
D.¥ES - wEad wogo

Options :

« BC



Question Number : 152 Question Id : 550053312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In nucleoside, the base is attached to which position of sugar molecule?

AFSArRE & 0, 2958 WePHE' D Fdo& wodotwd cotnod?

Options :

v C-1
y % €72
3 €3
g0 €3

Question Number : 153 Question Id : 550053313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Hypothyroidism is due to

A. High level of 1odine in the diet
B. Enlargement of thyroid gland
C. Low levels of 1odine in the diet

D. Increased levels of thyroxine

YR oG 2 I DD D0
A. e35555065° 9HE ng OB ED Eocidro
B. @oroné ¢od 088530 0800
C. e355580¢e5° LEURS gm;o OBIED oo
D. 985 Jron BT\

@
Options :

«AB

, v B.C

Question Number : 154 Question Id : 550053314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Ortho-sulphobenzimide is used as

658 -08"\BoaE B BIMT T EOTE?

Options :
Anti oxidant

3ot 6335683

Artificial sweetener

£85 8 260

Food Preservative

035558 ‘&Ja"g ~Nods. So

Food supplement

235358 DLVHDA DowW a’owgo

Question Number : 155 Question Id : 550053315 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement I: Chlorobenzene on nitration gives ]-chloro-4-nitrobenzene as major
product

Statement II: Chlorobenzene undergoes nitration slowly than benzene

Identify the correct answer

d0&$ Bocd Tf0[e0 @bgudéi)

Ty I B0 & §8 5o8d. 1-§8-4- DE'BES 0 I 6dyD) o w08,
g I1: B ot §TBeE p 0D i) A1 Bocdoedood.

283 2arady docoSod
Options :

Statements I, II are correct

seganfe L. IT Socds 280D
1.V

Statements L. IT are incorrect

egangen L I Sochy D/JD 57D
®

Statement I correct but statement II is incorrect

egaf 1 DB 5°Q oeavg I 57

3. %

Statement II correct but statement I 1s incorrect

SEENWIERSIVARZIREE I Boglat
4. %



Question Number : 156 Question Id : 550053316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In SN2 reaction, the carbon in the transition state 1s

4 7 )
Sn2 e.sqgesﬁ. ST SENS
Options :

Tri coordinated

BT oL SQ &0t

Penta coordinated

29000 20T SQ &otod

Tetra coordinated

TR 0T SQ &o0od

Hexa coordinated

233 20TV SQ &0t

Question Number : 157 Question Id : 550053317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following has more pK, value?

S0 RIED T°e5° DA D)3 PKa Dewdo 9 eotwod?



Options :




2-Nitrophenol

2-2¢5° dHeeS

3-Nitrophenol
3- D" DTS

4-Nitrophenol
4- 285" S

2.4-Dinitrophenol

2.4-3 D¢ dHaeed

Question Number : 158 Question Id : 550053318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Vinegar and butter are the sources for which of the following carboxylic acids

respectively?

$06 @ 5073198 iroh 36 LBaHY D) S Jre HoTe?

Options :

_ CH,COOH. CH,CH,CH,CH,COOH
1.

_, CH,COOH. CH,CH,CH,COOH



CH,CH,COOH. (CH,), CHCOOH

3. %

_ CH,CH,CH,COOH,  (CH,),CHCOOH
4,

Question Number : 159 Question Id : 550053319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identity X. Y and Z in the following reactions sequence

208 HED rbdzgve‘f X, Y £08030 Z 00 t80crsmn

C.H.CH,CH,0H—2 > C H.CH,COOH —¥ > 7
Options :

X=PCC Y =NaOH,CaO Z=CH.CH,

X=PCC Y=LAH Z=CH,CH,CH,

X = Jones reagent Y =NaOH.CaO Z=CH,CH,CH,

X= &dys6g0 Y =NaOH.CaO Z=CH;CH,CH,

X =Jones reagent Y =NaOH.CaO.A Z=CH,CH,

X= &9ys6do Y =NaOH.CaO.A Z=C/H,CH,



Question Number : 160 Question Id : 550053320 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following produces nitrogen gas after the reaction with nitrous acid?

306 TES° D6 JOD w0 & S6;S0b PR TN I6y6R0A?
Options :

= (CH3):N

. CHNHG,H;

3 (CoHs):N

n C>HsNH>»
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